24/06/2016 College Lecturer Exam - Public-Administration-I

Rajasthan Public Service Commission - 2016 o
ues: 150

Paper : Public-Administration-I Time: 3 Hours

Ques # :1

Who among the following said "Public Administration consists of all those operations having for their purpose
the fulfillment or enforcement of public policy as declared by competent authority."

1) Luther Gulick

2) L.D.White

3) Nicholas Henry
4) Corson and Harris

Arafaf@d & & a8 Fasr wy= §, "dd TaeT 3 T3 Turere) @ RS 941 a1 & et 3827
FeTH TR ganT e aver N &1 fsfor a1 frareage gar )"

Ques # :2

Who among the following said ""Development is a state of mind, a tendency, a direction rather than a fixed
goal, it is a rate of change in a particular direction "

1) FEW. Riggs

2) Edward Weidner
3) Robert Chambers
4) Lester Brown

foeer & & freer e, " v fAfRaa 3207 Y geret 7 AT Y v Jrawy, vF WA, v R @
T 0 v g H aRadaT A tF T ¢ |"-

D ww. saeg, Rew

2) vsas di5er

3) Qe A

4) e 3T

Ques # :3

Final Appeal against the decision of tribunal under Administrative Tribunal Act, 1985 can be made to-
1) Supreme Court

2) High Court

3) Central Vigilance Commission

4) None of these

yerra e fEegsrer srffaTw 1985 & iaeia Regara & foiy & Rwg sifeaer srdter e o & =t
Y ST Wl B-

D) wafea mamarer

2) 3t odldleld

3) 41 TAHA =aTATer

4) IR 3 A PIS AT
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Ques # 4

Unity of Command is opposite to the concept of-
1) Centralization

2) Delegation

3) Adjudication

4) Functional Foremanship

&2 Y Tl oot & F e raearon & g -
D) shegretor

2) gEdieRoT

3) s

) sraficae BRI

Ques # :5

Who among the following defined the civil services as a "professional body of officials, permanent, paid and
skilled."'-

1) Herman Finer
2) E.N. Gladden
3) W.E. Willoughby
4) Paul H. Appleby

fower 7 @ frwer Rfaer Jamsit 1 "wurdt dae sl va Fera FATRAT & v sgaa@ds s &
w0 H gfisniRa frar &2

D) g9t wrgere

2) & uet. TS

3) gerey, . faelel

) gfer T, Uqere

Ques # :6

The policy formulated by the Executive Authority is evaluated by the legislature-indicate the right option
given below-

1) Questions and debates

2) Various motions of the Parliament

3) Committee hearings and investigations and budgetary process
4) All of these

FHIITHT gaRT AT sfife F1 Aearr AR garT fBFar s §- 98 RFew w1 a9 F:3-
1) ges7 wq are fare

2) FoE F AR AT Fe - et Sea

3) GIATT & FATIT Y FoAeT 3R ST el 3R Soie Foeeth uishar

4) IR |

Ques # 7

The basic principles of the rule of law are-

1) Equality before law and equal protection of law

2) Independent and impartial judiciary

3) Adequate safeguard against abuse of power by executive
4) All of these.
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farfer &1 emaer & amemera Rrgia 8-
D) #1efst & T TATAAT TG HleTet T AT TITOT
2) g e fsuet saradrteret
3) FTAITRRT GaRT HedT % GRIANRT & faeg g2iTed TaTor
4) SRIFT

Ques # :8

What does term'Cameralism' mean-
1) German Science of Administration
2) Dutch Science of Administration

3) American Science of Administration
4) British Science of Administration

"HATITH" T HTAT B-

D) germast &1 S1#et [aee

2) gemreeT & 59 4=t

3) gerraeT 1 AR fa=eT
4) germaet & fafeer e

Ques # :9

Financial Administration is "at the core of modern government." Which of the following gave this popular
statement on the importance of financial administration-

1) Hoover Commission

2) Sir Thomas Erskine May
3) Fulton Committee

4) F.A. Nigro

facediier e "Iy fad TER & Ao A o) A f@a & @ frwe e e F Agca w
SR FUT T §-

1) gav amirer

2) §X ATHE 3PS

3) Goes HAS

4) T, T A

Ques # :10

Who of the following said," The essence of public administration is policy making"'-
1) Marshall Dimock

2) Austin Ranney

3) Paul H. Appleby

4) George C. Edwards

farafafea #F @ fFaa e, e gemwer w1 7e7 ar Afa f@#ior §)-
D) areter 2T

2) feeT &

3) gfer T, TS

4) SreT &Y. Tsasy

Ques # :11
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When information technology is applied to the communication process in organization, it is called-
1) MTS (Management Technical System)

2) MIS (Management Information System)

3) MISS (Management Information Solution System)

4) MITS (Management Information Technical System)

I FAAT DA TN T Feratt 7 Feuwor wfthan 7 amy fmar srar § &Y 53 Fs1 Srar -
D) yeiereT qehetiehy yomely

2) geereT =T JoTe

3) geIeT g g JoTTel

4) gereT G dehetidh ToTelT

Ques # :12

Which of the following statement are true about Hypotheses ? (a) Hypotheses are important and indispensable
tools of scientific research. (b) Hypotheses can be deduced from theory and from other hypothesis (c)
Hypostheses direct the investigation (d) Hypotheses are in question form that is to be answered.

1) a

2) bandc
3) a,bandc
4)d

R&Feua & vy # feafaf@a 7 & F1a8 F9e1 77 8- A. WFewaw dmfas seqaeue & faw
Hgceaqur 31X 3raferd arere § | B. IRaewensit &1 aRomsr Rigia gan sraar s sRaeaest
EART 9TCe f3hT AT WehelT § | C. IRFETATT AT ) ARG FIl & | D. IRFETAT Fear wred Fiet

FRATRTTTHENE |
1) A
2)B3iRcC

) aB3RC
4D

Ques # :13

Which among the following is the major point of difference between the Public and Private Administration ?
1) Profit Motive

2) Ministerial Responsibility

3) Uniformity of Treatment

4) All of these.

foes & @ Flar ArdSfA® a ATFAINT TATHA F HEF AT @A arelt fag & 2
1) ey gom

2) FATaR® SeaReTAed

3) cgagR & GHEEYA

4) g1 A sl

Ques # :14

Directorates, Commissions and boards are all examples of -
1) Auxiliary agencies

2) Staff agencies

3) Line agencies

4) Private agencies
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D) ggrae sf@eolt &
2) TeTh HTRFOT &
3) g7 3ifdeor &
4) sgfFderd RO &

Ques # :15

A Money Bill is different from a Finance Bill, in which of the following respects- (a) A Money Bill deals
exclusively with taxation, borrowing or expenditure whereas Finance Bill has a broader coverage. (b) A
Money Bill is a bill certified to be such by the speaker of the Lok Sabha whereas a Finance Bill requires no
such certificate.

1) Only a

2) Only b

3) Bothaand b
4) None of these

foreer 7 & rw weet F uer Ry i e @ ffiesT o- AL o1 wraeth s s e ot @
FATYTT, ST IUT AT AT 4T & WO & Fafd e RAdus saraes gar 8] B. U= geawth
e YT fardares gYar & ford  Sewe sreaet garT g o srar § e e el
Y WA FoRdY TATOT Y ITTRIHAT AET B & |

D &aer A

2) ael B

3) A, B!

4) IRV 7 A P G

Ques # :16

What is a research design ?

1) A way of conducting research that is not grounded in theory.

2) The choice between using qualitative or quantitative methods.

3) The style in which you present your research findings.

4) A framework for every stage of the collection and analysis of data.

HTHTIT YR AT ?

D) re7aeener 1 Xt &1 Ueh et foraent 3R fads Rigia et g
2) I[OTTeH AT ATATeH fafer &1 3ueT F3e & AL e

3) g AT Forae 3T 19T IeTHe Tl T e et &

4) 31ienst &1 oI 3R TAAIVOT ¥ & ToIT &¥ RuT & ToIT e o

Ques # :17

Bounded rationality model of decision making was proposed by-
1) Kahneman and Tversky

2) Herbert Simon

3) Bazerman

4) Peters and Waterman

ot averan & diffa RafFar yfawa &1 geara @ wr ar-
D) srgareet 3% caddhr

2) g AEHT

3) SoRAT
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4) Qe ud areAd

Ques # :18

In which of the following types of classifications, a man's status and salary are determined with reference to
the service he is assigned after recruitment -

1) Position Classification
2) Rank Classification

3) Functional Classification
4) None of these.

farafaf@a geffaton & yoRY & F FTd safFd #19g 3R 39 39 a1 & Tl H FuiiRa Fy
ST & o dar # g st F ag @I ST g -

1) gezrar aeffergor

2) ug gafiertor

3) fparcHe gaftetor

1) U T A P TG

Ques # :19

Execution of the budget can be done only after it is voted by -
1) Finance Ministry

2) Central Government

3) Parliament

4) Audit Department

goe F1 fFdeada Fad faer 7 @ fraad garr Adee 5 I R Far sraware -
D faca darerm

2) FET TWHR

3) Fe

4) 37eheToT faeTTar

Ques # :20

New Public Management is said to have common roots and theoritical linkages with -
1) Cameralist Group

2) The Prince

3) Public Choice Theory

4) Politics - Administration Dichotomy

e S Yetre & TR T ST § R 5 T & ATy WYFd ITUR U9 Yuifeas araey ¥ -
D) sraforee aeg

2) z =

3) o1t v Ragia

RRECIGR NI ICERACIEEIE T

Ques # :21

Which of the following is associated with good governance ?
1) World Bank Report (1992)

2) Organization for Economic Cooperation and Development
3) Minnowbrook Conference I, II & III
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4) Commonwhealth Association for Public Administration

e & @ FieT 1913 Tt G wERA § 2
D) fdea 3= wfades1(1992)

2) 317 HgaeT e [y et

3) et Ao LI TG 111

4) qregaEeT Wi TS Heg

Ques # :22

There are two major methods of recruitment, one is recruitment from outside and the other is called -
1) Indirect Recruitment

2) Departmental Recruitment

3) Both, Indirect Recruitment and Departmental Recruitment

4) None of these.

srelt Y &Y e AT 8, e § - e & ot i qEd M FgT ST -
D 3rvcae vt

2) fqermefig a1t

3) 3rvczet s1dlt e e ord, @it

1) IWFT H A HIS o7&

Ques # :23

Who among the following gave the Systems Model for Policy Analysis ?
1) D.W. Smithburg

2) V.A. Thompson

3) David Easton

4) Amitai Etzioni

forrer 7 & e Afa Reeyor & fore sgaeyr ufaww i -
D &, saey, Rayeet

2) i . gteAwT

3) ofre Sves

4) ATS Ticsrafa

Ques # :24

Who among the following gave the technique of 'Job Enrichment' ?
1) A. Maslow

2) F. Herzberg

3) D. McGregor

4) C.P. Alderfer

T & ¥ fFua 'F Gada dsels w1 afadresT fmar 2
D w vt

2) U, goeeT

3) &, FAwaeR

4) Er Y. TSt

Ques # :25
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A policy is formulated in the context of changing goals, shifting environment and __
1) Challenges

2) Varying Situations

3) Broad idea of objective

4) Preliminary idea of objective

1) geiifera

2) et et aRTEufaat
3) 3223t &1 egTue faaR
4) szt &1 wrafae AR

Ques # :26

Questionnaire is widely used tool in which type of research work ?
1) Survey research

2) Experimental research

3) Historical research

4) Case study research

fovet F @ o TR & reTaUTeT HTE & TRATT T AT A9 w9 7 fFar smar g 2
D) wrfetor 3rereeenT

2) JRTeHS HeJHeTet

3) MfaeIiae eTaeee

4) wepel 3TEATT ITHAUTT

Ques # :27

Which one of the following is not the feature of the developed countries ?
1) The system of Governmental organization is highly differentiated.

2) Popular interest and involvement in political system

3) The political administrative system is highly diffused .

4) The Bureaucracy is highly specialized.

et & & Flaar v RAHfAT ot F1 Jeor Agi ¢ -
1) g gerasT gutrel srcafes fafea |

2) qroreifares ot 3% et SR T sTafardy

3) T - gerafaE gourmel srcafe afdafda |
4) faerfiepa Atavamey |

Ques # :28

Which one is not a type of Non-Probabilty sampling ?
1) Convenience Sampling

2) Cluster Sampling

3) Judgement Sampling

4) Quota Sampling

ot & @ FiaaT 3rfRAerar yface! #1 yar a8 &2
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4) gy ufaesl

Ques # :29

Which one of the following is not a principle of budget making?
1) The Rule of Lapse

2) Estimate should be nearly close to actuals

3) Budgeting should be net and not gross.

4) Budget must be balanced.

ffaf@d & @ i 91 v aore a1 1 RAGT A8 & -
1) qifay depeor & T

2) YTeheleT aIEATATdT & 19T e glar afeu

3) gatféat g Bt anfRw Heher AL

4 sore gt @ AR

Ques # :30

What are three recognized methods of policy evaluation - A. Policy Impact Evaluation B. Policy Strategy
Evaluation C. Policy Project Appraisal D. Policy Output Determination

1) A,Band C
2)A,Cand D
3) A,Band D
4) B, Cand D

A Heararer Y fiet ATeTar yrea faferm w7 8- A. Afa F wonfya w3t arer FRF 1 7w B.
A T A IO 1 FHedrhar C. AT TRASTAT sregAree D. Fifer aRom ax 78fi Riaer
DA, B3RC

2 A, c3RD

3) A,B3RD

Y B,C3RD

Ques # :31

In hierachy, the term scalar means -
1) Step

2) Ladder

3) Position

4) Process

YeRITe ¥ Tl aee HTAHGF -
1) 7ot

2) gy

3) reufa

4) gfgrar

Ques # :32

According to Urwick, where the work is of a more simple and routine nature, the span of control varies from
1)8to 12
2)9to 12
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3)71t09
4)10to 12

3Té% & AR, STET 1 HTF T Ta AT YT H7 &Y, T§T G707 H7 837 ot 1 & -
Dgai2

Dod12

3)7&09

Diow12

Ques # :33

Who defined organizations as "consciously coordinated co-operative systems ?"
1) Henry Fayol

2) Chris Argyris

3) Chester I Barnard

4) A. Etzioni

IS ! "I 9 § GATFad GgA9h gonfara’ & & & forasr afiena frar a1 2
D) &8 e

2) o HfaRE

3) AEeT IS, TS

1) ©. ufesat

Ques # :34

Fred. W. Riggs has visualized three trends in nature of comparartive public administration. Which of the
following is NOT one of them ?

1) A shift from empirical to normative orientation

2) A shift from normative to empirical orientation

3) A shift from idiographic to nomothetic orientation
4) A shift from non-ecological to ecological orientation

%3 sacg, R & Joreens e wermaer 1 wapfa # e ygfaai ddt & | af@a A a slad o
3AA TG ?

D) arrepsrfae & AT aifdfasara & 3]

2) Frerer eI HIRR=TE B 37

3) srraienet & fazraeh sifdfaeara 6 3k

4 Ioikfeufasa & aRfeufad Hr 3k

Ques # :35

Who has been associated with pre-paradigmatic stage of compartive public administration ?
1) Nimrod Raphaeli

2) Thomas S. Kuhn

3) Fred W. Riggs

4) Farrel Heady

qeATcH dlleh TATH Y Td-fAGEATHS IaeyT § $lT JTW@TE ?
D) forsite el

2) e v, FEe

3) 35 sey, Red

) e g
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Ques # :36

"As is apparent, comparative public administration is a study of public administratiion on a comparative
basis." Who stated this definition ?

1) Nimrod Raphaeli

2) Fred W. Riggs

3) Robert H. Jackson
4) Keith M. Henderson

"I ¥ FISE &, TeATeH ol TRATH JeleTeAd AT UX ol TRATHeT $T G4 §]" g TRETST
fraardr?

D forsig Yhelr

2) %55 390, om0

3) Aat T, Seae

4) frer T, EsvaeT

Ques # :37

Which one of the following is NOT a preposition in Theory-X ?

1) The average human being has an inherent dislike of work.

2) The average human being wishes to avoid responsibility.

3) The average human being learns to seek responsibility.

4) The average human being is not committed to organizational goals.

fArafaf@a # & Flawr v Rgia-vaw w) yearfad 7@t #3ar ?
D) 3ireer Ao 3 o & 9 st sraseel g 3

2) 3itea AT FAFAERY | T2t T 32T AT ]

3) e ATsT FHFAERY ool B &

%) e AT HaTosTeAS et & e ufcrerg =1t g

Ques # :38

The salient features of the US administrative system are A. Judicial review B. Federal system C. Presidential
form of government D. Separation of Powers with checks and balances

1) Aand C

2) Aand B
3)A,Cand D
4)A,B,Cand D

7,09, T A yorelt F1 7ET RAdvare 3- A. 7l qeRrEese B, HulcAs Jorrel! C. sreaaha
YR I THR D. T 7 aqeret afee afFaal w1 quarior A1 v a1 e & @ w8 ey gfav:
Dastrc

2) ARB

3 A,Cc3RD

Y A,B,C3RD

Ques # :39

If the number of subordinates in an organization is 8, which one of the following is the span of total
relationships as per principle of V.A. Gracunas ?

1) 120
2) 490
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3) 2376
4) 1080

7 et woreet # e 1 & 8 § A A.vdFaw & R F IqaR Fo wau F1 AR
a AmfRf@a A dslaa s g 2

1) 120
2) 490
3) 2376
4) 1080
Ques # :40

Which of the follwing pairs is true ?
1) Simon....... Grapevine

2) Simon......Zone of Indifference

3) Simon....... Satisfying

4) Simon......... Mixed Scanning

@A A sl s AsTadr e ?

Ques # :41

The "line and Staff" type of organization first originated in which one of the following ?
1) Educational Administration

2) Municipal Administration

3) Public Administration

4) Military Administration

WS AR FETh TR & HINSH HT FITUH IeIH FIHT -
1) Qiferes gemest &

2) FIT w2 3

3) Slreh gmmEeT

4) dfee wemaT

Ques # :42

Which one of the following is NOT upheld by New Public Administration?
1) Value based approach

2) Dogmas of efficiency and economy

3) Social equity in service delivery

4) Relevant research

o A T GART e f@a & ¥ fre v 1 qoe 7gt frar Jrar g 2
D) s 3menfye summ

2) Frdepererd vd fHaeadT & AdTg

3) Qar e & FrATfoIe GHAT

4) FEEI T

Ques # :43
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Herbert A. Simon considered decision making as a three step process. Which one of the following was added
by G. March ?

1) Intelligence activity, i.e. Finding solutions

2) Review activity, i.e. Follow up actions

3) Design activity, i.e. Developing alternatives

4) Choice activity, i.e. Selecting a course of action

ga¢ U. AIsAA o Aoy #Y 3 =7or iy ufshar a1 Reafaf@a J siaar v @wor st Arr o Ser 2
D) s sifafafey orfer aRkfeufert s aar oemar

2) geve afafafer @i 3wgeresT afman

3) wiehet ATATATY Aoy Ahedt &1 fAmre

4) et aifafafer anfey w@fkan &1 gomra

Ques # :44

Whhich of the following is NOT the essential of supervision ?

1) Development of agreed work standards between supervisor subordinates
2) Developing report forms for subordinates

3) Resolving conflicts and misunderstanding among subordinates

4) Finding out faults and award, punishment to subordinates.

frafaf@a & @ sl a1 wd3ator F1 3raIF AL R 2

D) qidares qar srefiaedl & Avy GgAd S AT 1 A
2) 3refereat & fore Rave go=t &t faera

3) arefiereat & FeT G qUT Aeahe At & TerT

1) 3refiereat hr et 1 adr oeTET, 30 REHR AT &8 AT

Ques # :45

Which one of the following is a major staff agency in the Government of India ?
1) Railway Board

2) Central Pollution Control Board

3) NITI Ayog

4) Central Board of Direct Taxes

farafaf@a #F @ slaar v s TFR FT 97w Ferd HfAFor e 2
Deaas

2) FHEr vemoT fAg Ao §tS

3) hfa 3maer

4) e goger HT S

Ques # :46

The emergence of '"New Public Administration" is associated with
1) Comparative Administration Group

2) Americal Society of Public Administration

3) Minnowbrook Conference

4) National Association of Schools of Public Administration

"I WA TRATHA" FT 361 o & FFaw g2
D) FetetTerir SRmas T &
2) 3N eeT ArETSET 3T Ufeers tsfAAR T &
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3) fAetlser TFAcoT O
4) FereTer TRITATRIET 3T Fohel 31T ufees TsfAfATee &

Ques # :47

Match List-1with List-11 and select the correct answer by
using the codes given below the lists:

List-1 List-11
A. L.D. White 1. Principles of Public Adminstration
B. W.F. Willoughby 2. Introduction to the Study of Public Adminstration
C.E.N.Gladden 3. Administration: Its Purpose and Performance
0. Ordway Tead 4. An Introduction to Public Administration
1) A-1,B-3, C-4,D-2
2) A-4,B-2,C-3,D-1
3) A-2,B-1,C-4,D-3
4) A-3,B-4,C-1,D-2
T T T gAferd AT 1 e aw we @&
YT T §U Hel I H T4 HIf:

Th il

A. Ul 3T.SEI5C 1. UTagew 3w gfees vsfAfaee=
B. S0 d,UG. Tdelldl 2.0 3dsd € o Tedr it afeed vsfAfarge=
C.5. . oI5 3. UCSTATAR LM 520 990 Us WHNAT
D. 3ifsd €15 4.0l SIS € Uiselsh USTeReRre
1) A-1,B-3,C-4,D-2
2) A-4,B-2,C-3,D- 1
3) A-2,B-1,C-4,D-3
4) A-3,B-4, C-1, D-2
Ques # 48

Which of the follwing is NOT a feature of a formal organization ?
1) Deliberately created structure

2) Departmentalization

3) Informal communication system

4) Formal authority

frafaf@a & @ sia v vaie Goree Y fFdvdar a8 82
D gfaaria ®a & @Affa wwaen

2) fasmeirreRIoT

3) 3ttt gFIwoT egaEdT

D st TR

Ques # :49

Match List-1with List-1l and select the correct answer
by using the codes given below the lists:

List-1 List Il
A.Human Theory of Organization 1. Work-oriented
B. Classical Theory of Organization 2. Informal Organization
C. Synthesis of formal and informal goals 3. People-Oriented
D. Contingency theory of Organization 4. Dynamic Environment

1) A-2,B-3,C-4, D-1
2) A-4,B-2,C-3,D-1
3) A-3, B-1, C-4, D-2
4) A-3,B-1,C-2,D-4
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el T Tln & gaferd HIfed A Gt & =1
mmiﬁﬁmmgmﬂmﬁﬁﬂ:

ﬁ?ﬁ-l ﬁ\—c?r-u
A. FaTSeT T AT faTRYRT 1. HAHG
B. 3151 I T T e 2. HATINE Haaa
c. ¥ va F=gaiie oeat & ST 3. AAd-3eHE
D. T3 i AT EAGAT [daaRT 4. Ifcrefier aaraxeT
1) A-2,B-3, C-4, D-1
2) A-4,B-2,C-3,D- 1
3) A-3, B-1, C-4, D-2
4) A-3,B-1, C-2, D-4

Ques # :50

Power derived from formal position is
1) Legitimate power

2) Expert power

3) Reward power

4) Coercive power

SR FRewr & Pravlt g2 arferr e & -
D) & arfea

2) fqersre et

3) gEEEHR At

4) SR STaTeEdT & afFa

Ques # :51

Consider the following stages: A. Politics-administration dichotomy B. The Humanistic challenge C. Search for
universal principles D. New Public Administration E. Focus on Inter-disciplinary studies F. Paradigm shifts
Which one of the following is the correct sequence of the above stages of historical evolution of Public
Administration as a discipline ?

1) A-C-B-E-D-F
2) D-B-C-A-F-E
3) A-B-C-E-D-F
4) D-C-E-A-F-B

farafaf@a sraeumit w R AA: A, Terd-gerae gfafasmsi B. Adr geld C.
arasifAe Rigral i @it D. 79 dF T2He E. 3a{-Rvarieds 3eaa«l W) Fe40r F. Rée=reas
aREde T v & w9 & aF werrae & efagriaed 35 Y ST Jaeyrsit wE IeqHa
frafRf@a A asarade 2

1) A-C-B-E-D-F

2) D-B-C-A-F-E

3) A-B-C-E-D-F

4) D-C-E-A-F-B

Ques # :52

Which one of the following books introduced the concept of New Public Management ?
1) Politics and Administration-Frank Goodnow

2) Reinventing Government-David Osborne and Gabler

3) Ideas and Issues in Public Adminitration-Dwight Waldo

4) Toward New Public Administration: The Minnowbrook Perspective-Frank Marini
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R et # & Flerelt e o o aiv waler Y T Y SR R 2
D) difafess Us wsfRfaegee-ha sara

2) Re=afeer Aatdie-2fas 3Eare vd deo

3) 3msfEaTsT Us $290 57 Ufseish USATAEer- SaT$e aTest

4) zars = afees vsfafaeeee- i fRetigs iafaea- e AR

Ques # :53

Who invented the concept of ""zone of indifference' in relation to authority ?
1) Henry Fayol

2) Mary Parker Follett

3) Chester 1. Barnard

4) Herbert A. Simon

TSR & Tegst 7 "Igrelerar & &3 Rgra fhast afaarfea frar 2
D) &y tharer

2) 3y 91T Blele

3) AEET IS, TS

1) ga& U g AT

Ques # :54

Which one of the follwoing types of authorities has been preferred by Max Weber ?
1) Traditional

2) Charismatic

3) Legal-rational

4) Official

frrafafaa & & fFa yeR A gear Aew 39T garT gH1g TR -
D w@pera

2) gAcHRE

3) e Ryderpet

4) FrHRY

Ques # :55

Herbert Simon's concept of administration is based on
1) Structural-functional approach

2) Logical postivism

3) Systems approach

4) Elite approach

E4E ISHS &Y 2TH $) HhedaT 3Teia & -
D) FraarcAs-gFrRiTcAs ATRITH

2) qifdes yegeTare

3) SaEYTHe AR

) gt gt A

Ques # :56
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Consider the following experiments: A. Bank Wirning Observation Room B. Relay Assembly Test Room C.
Mica Splitting Test Room D. Productivity Measuring Test Room Which of these experiments did Mayo's
research include ?

1)Aand D
2)Band C
3)A,Band C
4)A,B,Cand D

fArafaf@a v o fIaR A A. dF aafer siresara 7 B. R 3riad ¢F 7 C. ASHT
fecafear ¢ve w1 . WisfFefadt AaRer tve w1 g7 vl & & Floram w3lor AT F sregaeurer
aEAfaa & -

DAsRD

2)B3RcC

3) A, B3IRC

Y A,B,C3RD

Ques # :57

Who is a Squealer in Bank Wiring Test Room experiments ?

1) Who does too much work

2) Who does little work

3) Who passes unfavourable information about his colleagues to his superior
4) Who does zero work

dF i A v # e w2

DS s sraa

DM FAFTIRAE

3) Y 379eY ARG T 39T T o TR 7 gfsper Fa=me & §
4) 3t T T A

Ques # :58

Which one of the following pairs is NOT correctly matched ?

1) System-1 -Communication from top to bottom

2) System-2 -Communication from top to bottom with slight understanding of subordinates' view point
3) System-3 -Communication from top to bottom and bottom to top

4) System-4 -Only vertical Communication

frrafaf@a & & slaar N @ T gART i 5 2

D) cqaeer-1 - §uR SO @ & & 3R

2) SUGEAT-2 - AR FOR A A1 7 3R oifdhet srehiareedt & foant & 0 ga7sr F arg
3) cggEAT-3 - IR FI U 71 & 30 g2ar N & IR A 3%

1) STGTEYT-4 - el TTFgad HOR

Ques # :59

Which one of the following statement is correct ?

1) Democratic leaders do not invite the followers in the decision-making process.
2) Leadres are born, they cannot be made.

3) Participative leadres decentralise decision-making authority.

4) Rensis Likert advocates five styles of management.

fafaf@a s A A slar e ad 2
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1) Srerdifees Sar AvTa- AT uishar #F srefiereat o1 3mAfa 8 |

2) Jar S=Hed @ﬁ%,aaaﬁaﬁmm\
3) Hgrh Aar fAvT- AT MER Y RAsfTad Fid 8
4) Yoaa o gaer $r 5 Aot & g7 e B

Ques # :60

Communication network where all members interact with each other freely is
1) Star Network

2) Chain Network

3) Wheel Network

4) Circle Network

HOR Aead 61 T T 39Fd T § WER- fFar w3 &, Fgamand -

D) ¥er sicas
2) A9 Aca®
3) et Sy
1) gfrer Aecasd

Ques # :61

Who formulated ERG theory of motivation ?
1) Robert House

2) Clayton Alderfer

3) Victor H. Vroom

4) David C. McClelland

TAYIOM Y SIS TAARURT &1 fawry foraet far 2
1) 7S ar3E

2) Fores Tos{u

3) fagrex v, g

1) 2fas &Y. Aol

Ques # :62

In which studies two leadership behaviour of the initiating structure and consideration were studied ?

1) Ohio state studies
2) Lowa studies

3) Michigan studies
4) Situational studies

forer sreagat & 3rfdsrer wraar auT fAeR & & Aqca saaeR T4 § A 7v ?

D) anfeay vee sreaae
2) Slrar 3reggeT

3) fATRIeTeT 3reTTeT

1) g feufae= 3reaae

Ques # :63

Globalization refers to
1) Financial market system is centered in a single state.
2) Geographical location of a firm is of utmost imporatnce
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3) The growth of a singly unified world market
4) Foreign capitalist transactions

dedfieor ¥ 3MAT | -

D) e SToTR SuTTely U Uehel T & Fioad gl &

2) farelt wat 1 At fore T Sreaftss Agcaqel giar &)
3) ue TRl UG 32 SR &7 fawra

%) faeai goirardy dr-ae

Ques # :64

Under which provision of the Constitution of India service condition of civil servants are regulated ?

1) Article 308
2) Article 309 proviso
3) Article 310
4) Article 311

HRA F wU & f5a srTede # R da= 61 391 od RFaRa A awd § 2
D) 3reeda 308

2) 317G 309 e

3) FFTeRe 310

4) 3rTeda 311

Ques # :65

Who was the chairperson of 2nd Administrative Reforms Commission ?
1) Man Mohan Singh

2) Veerappa Moily

3) Anna Hazare

4) Satish Chandra

i e e HTANT F et HieT & 2
D 7er gt fog

2) doqr Aiger

3) 3T By

4) e g

Ques # :66

The political rights available to a civil servant in India do not prohibit him/her from
1) expressing a political view

2) contributing financially to a political party

3) subscribing to a polictical movement

4) voting at national and state elections

RT 7 v e da& F1 ) Toefas FAFR 3Ty § T 37 yfaaiid =78 FIa -

D) goeifaes e siffcgea s &

2) Tl Tt faer gof &t e Serar &y 9
3) Terifae ealo T H AR &

4) rdrer T e Tt # Ferere S
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Ques # :67

Which one of the following statement about role of civil service in developing society is incorrect ?
1) Civil service should act as an agent of change

2) Civil service should have concern of social equity

3) Civil service should have concern for vested investment

4) Civil service should be politically neutral

Reraefter garer 7 fafae Qar it sfffe F woaey 7 Arafaf@a 7 @ slawr v sffrwys a8 a8
g2

1) Rferer e ¥ aRaeT 5 31t &5 1 3 1 T AR

2) fafarer AT 1 e HIATTSh AT A &lell ARy

3) e Qar &1 FFaey fAfed o ¥ g 1R

4) AT aT &l UsTeiiaieh §9 & TCEY glell TRy

Ques # :68

Which one of the following regarding training in civil services is false ?
1) Training should be of a continuous nature.

2) Training should be for upgrading the skills

3) Training should be for upgrading the knowledge

4) Training should be delinked from promotion

fafaer a1 & uiRator & graey # PArafaf@a & @ Flaur e APFga Taqad 2
D) fRrator o spfer &1 g1t anfe

2) TRIETOT HRIETAT T 1Al &l o felT gt AR

3) GfRIeToT 1T &1 Sorar &t o ToIw T Sirer =Ry

4) 9fRABTOT TelesTfer F 3T LT Qe AR

Ques # :69

In which country, there is no law prohibiting strikes by civil servants ?
1) Unites States

2) Unites Kingdom

3) Australia

4) India

fara &er F R Aot &1 g3arar &1 Ay F FTFS FHRA AT 8 2
D) wged T 3R

2) gerses fharsA

3) affeeforr

1) g

Ques # :70

Initially, patronage system was a form of recruitment in civil services in Unites States. The system was
introduced during the time of

1) President Washington
2) President Garfied

3) President Jefferson
4) President Jackson

YRS A, GgFd T ARG & Rfarer Qansit & srelt & w0 & wary gormely o Ay ar=fY) 77 v frwss
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A I Y a4t 2
D) qrsgufa arfisres
2) qrseufa IRhTes
3) Irsgufa STREe
4) Irseufa Sterde

Ques # :71

In which year, spoils system was introduced replacing patronage system in Unites States ?
1) 1789
2) 1829
3) 1865
4) 1869

e o I T IARFT v Jorrel F T W FE-THIE JOTTel F Y a1 2
1) 1789
2) 1829
3) 1865
4) 1869

Ques # :72

In which country civil servants may become a member of any political party and accept a political post ?
1) United States

2) India

3) France

4) Switzerland

fra gor 7 Rfae Qo= [FH) TTATAF gof FT HETT a7 TFd § TYT T fas I FTHFR FT ARd &
?

Ques # :73

Which one of the following pairs is NOT correctly matched ?
1) Fulton Committee...... "Specialists" and "Administrators"

2) Assheton Commiittee...... Civil service training

3) Ridely Committee...... Civil estabilshment

4) Tomlin Committee...... Budget and administrative efficiency

Rrreifarfre qrsit # & e a1 o W & AT g & 2
1) et ATAT..... "TRIT Ta TR

2) were |fAT......... Tafaer dar gfretor

3) Rgol 3 AT....... Fafde ar geua=

4) TTATIT 3MANT........ Tole TS YRITHTeTeh ST

Ques # :74

The process of recruitment and selection is the "corner-stone of the whole public personnel administration."
This statement was given by
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1) William G. Torpey
2) Ralf Assheton

3) Lord Fulton

4) O. Glenn Stahl

ol U Tt Y GEHAT "HOT W FIHF T AT ITRRAET 8" I FYT Faa w2

D) faforge oir. o
2) qrewh wesT
3) oS Goea
4) 30, 7o TS

Ques # :75

Which one of the following is NOT a major penalty in disciplinary rules ?

1) Recovery
2) Reduction
3) Removal

4) Dismissal

frrafaf@a 7 & Pl v g sl & geg nfPa i g 2

D argehr

2) yeraetta
3) forsepraet
4) gEEae

Ques # :76

College Lecturer Exam - Public-Administration-I

Match List-1with List-1l and select the correct answer by using

the codes given below the lists:

List-1 List-1I
A, Settingup of a Civil Service Commissionin U.K. 1.1888
B. Civil Service Act{Called the Pendelton Act) 2. 1855
C. President Garfield's assassination 3. 1883
D. Civil Service Reforms in United States 4,1972
5.1978

1)
2)
3)
4)

A-2, B-3, C-5, D-1
A-2, B-3, C-1, D-5
A-2,B-4, C-1, D-5
A-2,B-5, C-3, D-1

0 F gEhE gafed S AR @Rt F A9 e
T FE HT JAET HIT §T Tel 3T HT TI Sl

el

A. 3. 7 Tafder wfaw wefrre &1 wmger
e. T&faer dar sfafaaA@semea sfREaH Fgamr §)

C.Irsgafd AIRGIEs &l goar

D. T§Y&d T FATHT 7 e dar TR

1)
2)
3)
4)
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A-2,B-3,C-5,D-1
A-2,B-3,C-1,D-5
A-2,B-4, C-1,D-5
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il

1.1888
2.1855
3.1883

4,1372
5.15978
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Ques # :77

Indian Forests Service was constituted in
1) 1947
2) 1961
3) 1966
4) 1975

AR I AT T ST THAT I1AT UT-

1) 1947
2) 1961
3) 1966
4) 1975

Ques # :78

In which country efficiency is measured through Graphic Rating Scale for promotion in civil services ?
1) India

2) UK.

3) US.A

4) France

forw dor & RAfder a1 & welearfar & faw e fraRor A yorelt garT FrdFererar #1 ArdeT
ST g ?

D) smeq

2) gerses RhatsA

3) FgEFa T 3R

1) wig

Ques # :79

Which is the smallest unit of local government in France ?
1) Country

2) Arrondisement

3) Commune

4) Canton

W H TATAYT ATH H GH BIE SHIS HlaTdi g 2
D &r30d)

2) it

3) gt

D Fea

Ques # :80

Who called Independent Regulatory Commissions are " an outstanding development" in the American federal
government ?

1) First Hoover Commission

2) Second Hoover Commission
3) The Brownlow Committee
4) James W. Fesler

foruar wer T Fads A AT A T THER & U "Icpee AHEn |
D) were gaw eftee
2)
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il gar AT
3) ST3+Ter WA
4) 8 sy, BN

Ques # :81

What are the salient features of American administrative system? A. Judicial Review B. Federal Government
C. Presidential form of Government D. Checks and Balances

1) Aand C
2)Band C
3) Aand D
4)A,B,Cand D

FFOHT e faF sqaedr F1 qET AT 8- A. 7R qeRraess B. HuTcaA® Jorrel C.
IETRTTCHF ATH D. fAI=0T vd Helet A1 faw 10 e @ WY Seak H1 a4 AL -
DasRc

2)B3RcC

3) A3RD

YA, B, C3RD

Ques # :82

Development Administration means

1) Current administrative pattern in developed countries

2) Agencies for planning and implementing welfare programmes in developing countries
3) Administration concerned with eceonomic development

4) Administration concerned with law and order

T gemaeT FT 37T § -

D) ferfaa et & gafera wemast wfadA=

2) fyeprerefier 221 7 FHeaToTEHRY HIHHAT Y AT TF ST e aTer 31T
3) 3nfier faerr & Gl g

4)magwwa¢mmnﬁqem

Ques # :83

Which one of the follwoing is NOT the fundamental provision in respect of finances in Constitution of India ?
1) No tax can be levied or collected except by authority of law

2) No expenditure can be incurred from public funds except in the manner provided in the Constitution of India,
and in accordance with law.

3) The executive is bound to spend money in the manner as sanctioned by the Parliament
4) No demand for a grant shall be made except on the recommendation of the Prime Minister.

R & "iaye & rafaf@a & @ slvwr e s Rea s gau A adig?

1) fafer & Iiftrerr & TRar 1S $f X o oY oI TTT ST HehaT & 317 o &) Uera T ST Gevalm &

2) At A & 1S ol st ToXepTer o Fham AT 389 S fafer qar i gfeagera & siaea
3T &

3) FraTfereRT HHE GaRT T adieh 7 & eI oo wXe & fady arear g

4) 31ererer 35 R 0 T T 37 1 RIBTRer 35 R 7 By ey

Ques # :84
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Zero Hour is a time
1) Before the Question Hour
2) Immediately after the Question Hour
3) Just after lunch time
4) After the end of the meeting of the House

T FTel PleT AT WAL FgelTc1 ¢ ?

1) g9at sret & S Uge T gAY

2) 5951 ShTel T AT & Steh &T¢ ol AT
3) FedTeg Helel & S1¢  GHY

4) Heot T Yoo GATT & 1E H AT

Ques # :85

Article in the Constitution of India that says that when a bill has been passed by the Houses of Parliament, it
shall be presented to the President, and the President shall declare either that he assents to the Bill, or that he
withholds assent.

1) Article 111
2) Article 112
3) Article 113
4) Article 114

HRT ¥ WIAUTS HT I HTTOG HITHT © A1 T¢ ol ¢ T oI IS [AUTSH HHE F A&l GaRT IR
F o ST ¢ Y 5@ Tregufar Y e T ST B 98 I8 Swor Far § a1 oY a8 Rl
T T R 91T & AT AT I A A OF AT} |

D sregese 11

2) FrTeRe 112

3) 3170 113

4) 3reTeda 114

Ques # :86

Payments from the Consolidated Fund of India are authorized by the
1) Money Bill

2) Appropriation Act

3) Finance Act

4) Consolidated Fund Act

ST 1 wiferer PRy & & 18 o sporerTer sftrgper gt ¥ 2
D er1 fadrares canr

2) fafarer fadrge egrr

3) fycd faereh ganr

4) dfere ey srRfree aar

Ques # :87

The Railway Budget was separated from the general Budget in the year
1) 1919
2) 1920
3) 1921
4) 1922

Yord 9T 3TH J9ie A Fre o gy fFam arar gt 2
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1) 1919
2) 1920
3) 1921
4) 1922

Ques # :88

Which among the following recommended the introduction of performance budget in India ?
1) Estimates Committee

2) Appleby Report

3) Comptroller and Auditor General of India

4) Administrative Reforms Commission

R A F fasafed qore & yrter &y sreqaen fasafaf@a @ fraa 2
D) Arerereter afATS

2) wyoret wfafa

3) ¥R & g9 vd Agrear alaTs

4) gemafard GUr 3T

Ques # :89

Consider following statements in relation to Appropriations Bill A. It is introduced after the demands for
grants are approved by the Lok Sabha. B. It is introduced to provide for the appropriation of money required
to meet the grants. C. A debate precedes the passing of the Appropriation Bill. D. The enactment of
Appropriation Bill completes the parliamentary authorization of the government expenditure Which of the
statements given above is/are correct ?

1) A,Band D

2) A and D only
3) A and C only
4)A,B,Cand D

faforaier frdars & wraey 7 feer X A A5 A, reqerat it A7 s Form garr aia e &
91 I GX:-FATRA FoRT ST 8] B. Hefalel Y QU FXa & fAT srdfare aafar &1 Rfaar v &
fore g g1 Tt R ST &) C. e s  aia #& & fore gge 9@ g & D.
fafaraer frumres @1 Rrurrer avrt s & Fwerr TrirsTor 1 qut w3ar ) SuRfaf@a sfdwgat
Haslaaadg?

DA, B3RD

2) &ael A 3R D

3) Faa A3k C

4) A,B,C 3R D

Ques # :90

Which one of the following is the correct explanation of Excess Grant ?

1) In advance in respect of estimated expeniture for a part of financial year pending the completion of the
procedure prescribed in Article 113

2) To make a grant for meeting an unexpected demand upon resources of India
3) To take approval for money spent during a financial year in excess of amount granted for service
4) To take approval if the amount authorized by law for the current year is found insufficient

frafaf@a # @ Flaar v o regere F1 7@ Tasdaorg ?

D) forelY faeciir a & 81T & 31eTTferel o & wo ey & 3eges 113 7 fafed ufthar g 8t a5,
IS IeTalel JTIH el

2) AR 3 Ffed AT O ISR 72T 3 gfed & forw Jregeret &
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3) faecher a # foelt e & fv Sregeca (e & #1061 & o g0 o & e sregetes gred
AT
4) afe; arer a & fore fafer g srfia wha 3raaied 8 e JieTAlest JTed &deT

Ques # 91

Consider the following relation to significance of Budget. A. It is heart of management B. It is most powerful
instrument of legislative control and of executive management C. It is economic horoscope of a country D. It
is an instrument of social and economic change Which of the statements given above is/are correct ?

1) Band D
2)Aand D
3) A and C only
4)A,B,Cand D

T9TC ¥ Ageed & oY H e I AR A A. I8 Y94 71 g6 &| B. ¢ [umh i=or aur
FIIFRY gaeT FT Ja1® AfFaemel I+ 8| C. g 3 F 3fi+ gRad=T 1 v 7 8| D. Ig Ao+
vd 3w gaRade &1 v 37 3| SURRR@T s A slaaradr adi g 2

DB3kD

2)A3RD

3) el A 3R C

YD A,B,C3RD

Ques # :92

Which one of the following statements is incorrect ?

1) Financial Year in India kicks off from 1 April.

2) Financial Year in France starts from 1 January

3) Financial Year in England starts from 1 June

4) Financial Year in United States of America kicks off from 1 October.

farafaf@a sy & @ slaa aPFaa 0T 8 2

D) 91t & e awl 1 3t @ IRt 8lar &

2) g 3% Rrecivr ¥ 1 Srerery & SR QYT

3) gels & fac a¥ | 37 § TRET Q1T

%) Tgerd T ARG F e a¥ 1 3rFeaR & THeT 81 &)

Ques # :93

Who has introduced ""rational comprehensive approach and Increamenetalism' in public policy making ?
1) Seckler Hudson

2) Amitai Etzioni

3) Charles Lindblom

4) Ira Sharkansky

e sffer fovaator 3 Rawasaa RAega s va adaefiaae fras wrer a2
D) Qe g8

2) rfEars vicsraet

3) e foigsaA

1) =1 AEHS

Ques # :94
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Who has introduced Public Choice Theory in Public Administration ?
1) David Osborne

2) Vincent Octrom

3) Dwight Waldo

4) Mosher

AT Y & idtfaed avor RAga fFasr arer fFar 2
1) 2fgg sfeatst

2) fa=dic 3NeeH

3) zarée arear

4) Arerc

Ques # :95

The United States of American government is based upon the principle of
1) Unity of Power

2) Imbalance of Power

3) Balance of Power

4) Decentralization of Power

HgFd T AR A TR frw Rgia waraRa g 2
D) erfere &1 warar

2) aiferet rcIoreT

3) eifed Gt

4) erfer 1 fasregraetor

Ques # :96

The duty of Finance Commission is NOT to recommend upon

1) Distribution of taxes between the Union and States

2) Consideration of new items of revenue to be allocated to States.

3) Determination of principles which should govern the grants-in-aid from the Centre to the States
4) Any other matter escpecially referred to the Commission

fca srar T Fedea ¢ P g Iw T AR S -

1) o g U THRT & ALY 7 1 dearT

2) qroat @t T ST Trorea Y 7S Hel W) famr

3) dhg; GaRT Wt At fw STTet arer Sreferet e anter ator frgialt & favefior
4) 3o TIoT ST FIAT &7 W 3mer &Y =R & forw diar arar gy

Ques # :97

Which type of administration was recommended by Vincent Ostrom while proposing public choice approach in
public administration ?

1) Traditional Administration
2) Democratic Administration
3) Bureaucratic Administration
4) Autocratic Administration

Al TATHT A ST aoT ATRTH GFaidd F3d I77 fAde e o T ThR & qemaeT &
ferar$ 2
D) sRormere wema=
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2) ArepdiieTe TTE
3) SercarmdY weraeT
4) foraper wameet

Ques # :98

Who is chief exponent of "mixed scanning approach" in public policy ?
1) Charles Lindblom

2) Amitai Etzioni

3) Y. Dror

4) ML.E. Dimock

ot ifar 7 " frares T voe 1 ET sTaeR Fie ar ?
1) g1 foigsaia

2) 3fAars vfcsrare

3 arg. gR

1) wH S feATw

Ques # :99

What is Henry VIII Clause ?

1) An Act which delegates legislative powers to amend Acts of Parliament

2) An Act suggesting changes in Indian Civil Service

3) An Act governing principles of financial relations between Union and States
4) An Act empowering Parliament to declare financial emergency in U.K.

ST 3SeH FolloT FATE 2

D) wer srfferas o gae & srffaas? o @ifd s & fov faurh erfeaar scarafora star g |
2) v 3T S RerR fafder dar # aRad= & gema &ar |

3) e HRARTH S §9 T Ut F AT [edy deut & RAgia venfid Hary |

%) o Tt S g%, 7 Tae @ e 3mara 6 9o ae & o aued FaT |

Ques # :100

Match List-1 with List-11 and select the correct answer
by usingthe codes given below the lists:

List-1 List-2
A.Findamental Research 1. Pilot Study
B. Applied research 2. Action Plan
C. Action research 3. Knowledge forknowledge sake
D. Exploratory Research 4. Utilization objectives

1 A-3, B-4, C-2, D-1
2) A-3, B4, C-1,D-2
3) A-2, B-3, C-3, D-1
4) A-2,B-3, C-1, D-3
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Tl &1 e e Sifsre i = o g 7
ﬁwmifaﬁmmgﬁﬂﬁrmﬂwﬁm:

e SGial
A. FeTSIT HeTHerIT 1. 9150l el
B. 3T HeHe el 2. ®T AT
C. Hiehar IHeTHexIT= 3.7 & folw A

D. AAYOTcHS feTdeelle 4. IYAEAEIET 36&
1)  A-3,B-4,C-2,D-1
2)  A-3,B-4,C-1,D-2
3)  A-2,B-3,C-3,D-1
4)  A-2,B-3,C-1,D-3

Ques # :101

What are the characteristics of a good sample? A. Representativeness B Free of Bias C. Reliability D.
Flexibility Select the correct answer using the codes given below :

1) Band D

2) Aand D

3) A and C only
4) A,B,Cand D

3redr wfagel 1 F1 fetware 3- A, sfafafeaar B. sifdhifa & g C. feawaligar p. srhame
AT feT 1T FHe F TE e T TIF HIfS :

DB3RD

2 A3RD

3 Faear AR C

Y A,B,C3RD

Ques # :102

Which one of the following is incorrect characteristic of hypothesis ?
1) A hypothesis should be simple, specific and conceptually clear.

2) A hypothesis must be related to the existing body of knowledge.

3) A hypothesis must be capable of verification.

4) A hypothesis cannot be measured and tested.

i@ & 3 wlad v AV SuseuaT R A AT § 2
1) 3uereuer O, [AfIse AT GURUN &Y Jleht TISE gl IR |
2) 39T FiS[ET AT T e & Fafdd g TR |

3) 39T THTONHIOT & A9 gl 3T § |

4) ITFEYAT T ATYT § YW AT FHaT ST HeheT |

Ques # :103

Who is the writer of famous book ""Morality and Administration in Democratic Government" ?
1) Mary Parker Follett

2) Chester 1. Barnard

3) P.H. Appleby

4) D. Waldo

A ves s s SAFfes Traeidie e TR qeds FT d@® Hia g ?
D) 2% qrét wiere
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2) AEeT IS, TS
3) Y. w=r. Uqere
4) & grea

Ques # :104

Who laid more emphasis on the coordinating role of administration ?
1) Woodrow Wilson

2) Dimock

3) Simon

4) Pfiffner

WRATH T FHA-aIHRI AT 9 e srcafts ao fear e 2
D =31 faeae

2) 3T

3) grsHe

4) RhoerT

Ques # :105

Who is the writer of 'The Prince' ?
1) Confucius

2) Aristotle

3) Plato

4) Machiavelli

R FTAEs Fla g ?
ik Gkl

2)3']“'_"«[

3) carer

4) AfFmaraen

Ques # :106

Who criticized the concept of "Administrative Development" ?
1) Prof. C.P. Bhambhari

2) Prof. Daya Krishna

3) Dr. Radha Krishnan

4) Pt. Deen Dayal Upadhyay

g AR ITUROT FY AT Fat Hr g 2
D) gr. &y oY sreerdy

2) it gTepoT

3) 3. qreTgFSuTe

4) 9. ST TTer 3UTEI

Ques # :107

Who is considered the founder of the academic discipline of Public Administration ?
1) Goodnow

2) Woodrow Wilson

3) L.D. White
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4) FW. Taylor

AF TATHA F HFIEAF [T FT TEITIF F AATIATE 2

) a3
2) g5 faewst
3) var 2. egrse
4w sEeg TR

Ques # :108

Who coined the term 'Scientific Management' ?
1) Louis D. Brandies

2) M.P. Follet

3) L.F. Urwick

4) J.D. Mooney

dafa yaer ersg 1 yfadree fFaa fhar 2
D géa & 53

2) gH. 9. WaT

3) varuw. 3w

Y A

Ques # :109

Who states that the concept of delegation is a mere myth of organizational theory ?

1) Mooney

2) Terry

3) M.P. Follet
4) A.C. Reiley

I FgdT & F TSI Y FTUROT WISATCHS Agled T Fad U AAIGd FodaT g ?

D@

2) +5

3) AT Wrare
Do

Ques # :110

Taylorism took shape as "Stakhanovite Movement" in :

1) USA

2) USSR

3) France
4) Germany

rTaIe o R & H "TAEAEE g " HT 7T fordr 2

1) 3rafer

2) gYfega €
3) wig

4) Syt
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Ques # :111

The classical theory of organization in public Administration is also known as :
1) Structural theory

2) Functional theory

3) Bureaucratic Theory

4) Human Relations Theory

A JATHT 7 FISA F AT FAGTd 1 AT ATAT R -
D) wvaerens fgred

2) FriTcHs faged

3) A Agea

4) ATeTg-Gerei o g

Ques # :112

Mooney argued that all organization structures are based on a system of superior-subordinate relationships
arranged in hierarchical order. This, he termed as:

1) Scalar principles
2) Order principles

3) Equity principles
4) Initiative principles

A 5 % o i ol HersaT-wa=Te aftss-ardflareyr et @ reniea g & st Avfiag v
wﬁaﬁra?ﬁ%wﬁmamﬁm%

D) srort fAgIea

2) 37$% Rgled

3) 3fFady frgrea

4) sfafiefes Rgea

Ques # :113

Who declared Elton Mayo as 'An Adevnturer in the Realm of Ideas' and 'Blithe Spirit' thinker ?
1) PF. Drucker

2) Roethlisberger

3) William White

4) William Dickson

R Teed AT F1 'RAARY & a7 & ve g SFFT T 'R YA Rcd 4R+ Fgr ?
1) 4y uw, gat

2) Qrafag sk

3) fafora <grse

) faforas fEeraeT

Ques # :114

Which theory of leadership emphasised the role of 'followers' in leadership behaviour ?
1) Idiosyncrasy Credit theory

2) General interaction theory

3) Sociometric theory

4) Situational theories

Aca Frawtll 98 Hlaar RAgrd & Y a1 F sqaeR H Ireganfyay iy s{fw F Agcca qare 2
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D) gpfey dfRrse Tt fagia
2) FTHAY 3eccdeddeR fAgid
3) gaTer aROTCHS fagia
1) aRfeufa e fRgia

Ques # :115

The first administrative thinker to give a meaningful analysis of decision-making process is :
1) H. A. Simon

2) H. Fayol

3) EW. Taylor

4) C.I. Barnard

v weEfe Reas fSegia Aot fastor afdrar &1 srdqot freetor fFam, a2 -

3) T390, ol

4) Y 37S AT

Ques # :116

Greatman Theoy of Leadership led to the rise of :
1) The Behavioural Theory of Leadership

2) The Trait Theory of Leadership

3) The Situational Theoty of Leadership

4) None of these

mﬁmﬁm$wmm§m?
D Siqea #r caagRardy farumT

2) Aeq Y ARTUTHEAF FATRYURT

3) Agca Hr aRFRufas= farurT

1) U 7 A P TG

Ques # :117

Who developed the oldest and the best known 'Brain Storming' technique for encouraging creative thinking
during the planning and decision making-process ?

1) William Gordan
2) Alex F. Osborn
3) Andre Dellbecq
4) Andrew Van de Ven

foraterer e ferotar-forator uftham & gereeas RemY &1 9emar & arel wa urhier va gaass
NFT ‘91 TFHM el F1 Qe fras fwar 2

D) faforas améer

2) uorery U, e

3) 311 Selah

4) Gz a3

Ques # :118
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In delegation of authority, where no third person or intermediate link intervenes between the two parties to
the delegation, it is called :

1) direct or immediate delegation
2) indirect or mediate delegation
3) full delegation

4) partial delegation

HedT ¥ TARAST T HTEAT H A9 &1 TR 3r7ar JfAFIRAY F i geararsr=r gar g 31 3%
do F: v afFag araecaf@s adigararsa......Fea §

D) gezrat 3rerar et Fearetet

2) 3rScgeT 37T ALY YA STl

3) qut yearsteT

4) 3721 YA

Ques # :119

Who puts that development administration is "an action-oriented, goal oriented administrative system' ?
1) Montogomery

2) Edward Weidner

3) George Cant

4) F.W. Riggs

Fler R TArET FY U AN, T8 HAF TATHAF AT F T A TFdd FIATS 2
D) #Afstermady

2) vsas disel

3) Sret &

4) s zaey, Rew

Ques # :120

Who has been primarily interested in conceptualising the interactions between administrative systems and
their environment ?

1) EW. Riggs

2) Gabriel Almond
3) H.A. Simon

4) R.A. Dahl

FiF TAHAF STTEA3HT U 3% GATART & ALY H AR AT T IREINF FHAT F ITUROMHIOT
# AT A TR @A ?

D) o zeey, Rew

2) AfyTe AT

3) wau. wsHET

4) 3T, 55

Ques # :121

For whom D. Waldo said that he was 'the saint of organizational humanism' ?
1) F. Herzberg

2) A .H. Maslow

3) M.S. Myers

4) B.L. Hinton
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3Y. ares! A Y & fAT FgT [ 98 "HIrsATcHS ATTddIe &1 dd a1 ?

Ques # :122

A (Assertion): H.A. Simon rejected the possibility of maximising decisions. R (Reason): He observed that
human behaviour in the organizational setting is characterised by ""bounded rationality" ? Answer the
question by using the codes given below :

1) Both A and R are true and the R is the correct explanation of A.
2) Both A and R are true but R is not a correct explanation of A.
3) A is true but R is false.

4) A is false but R is true.

FYA(A): T.CHBHT o A0 FY 3rfOFas aara Y 1= F) @i X 31 FROIR): I8
FgT Y ARTTF A=A # AT cHdgR ) Uga AR arffewar ¥ g &) i Ru aFar &1
TIT T 99T HT 3¢l &

DAgrREAT G & 3R R A P @@ carear

2) AT RS A FIR R A T GET AT 78]

3) A FEY E R R T B

Y ATITE R R TR

Ques # :123

Motivation-Hygiene Theory and Motivation - Maintainance Thory of Herzberg are also known as :
1) Two-factor Theory of Motivation

2) Monistic Theory of Motivation

3) Economic Theory of Motivation

4) Need Hierarchy Theory of Motivation

gorgar Y ATAUTFH-IRTT RARYURI(Motivation-Hygiene Theory) Ta JfHUR® @ t@E
ﬁW(Motivation-Maintainance Theory) 3 «TH T oY S1eY AT %’ dg % :-

D s1froron w1 gfaues g

2) 37f3IROT T TehTcAS Bgid

3) 31RO 1 3 g

4) 37T3IROT T ITARIHAT TSAITT TG

Ques # :124

In 1955, who used 'structural-functional approach’ for the first time in public Administration ?
1) FEW. Riggs

2) Edward W. Weidner

3) Albert Waterson

4) D. Waldo

1955 H HAYYH 'GITATCHS-IH A TcHS SUTITH’ (Structural-Functional approach) &T &Yeh W2ITHeT £ )
v foRaet foRaT 2

D v ey, Rew

2) uzas 3oy, AR
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3) veaé arcaeT
D & grea

Ques # :125

Who supported concept of 'Bottom up Authority' in place of 'Top Down Authority' ?
1) Simon

2) C. Barnard

3) Follet

4) Max Weber

e e 313 rATRE (Top Down Authority)3d FUTeT U 'STEH 37T TATREN (Bottom up
Authority) % faaR &1 @@« fFar 2

1) ATSHA

2) Fr5es

3) wiare

4) AT IR

Ques # :126

Modern Theory of organization was developed by :
1) March and Simon

2) Haire

3) Norbert Weiner

4) All of these

Harae 1 3myfa R w1 e frae e 2
D) ARY qorr agae

2)

3) AREE fieR

1) s T el

Ques # :127

Hierarchy means:

1) officials at different levels of organization
2) control of the higher over the lower

3) gang plank

4) All of these

YEHITT FT 7T §:

1) Haroet & faffiest &Rt ox 3Ry
2) 3= &1 foreT OX fo=or

3) a7 e

1) go7ef & el

Ques # :128

The performance budget was introduced in India on the recommendation of :
1) Estimates Committee

2) Appleby Report

3) Comptroller and Auditor General of India
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4) Administrative Reforms Commission

R H fASUTEsT FoTe &1 TR FahT Rwiver . frar ar ar 2
D) greperer @fAfa

2) weoeret ROt

3) IR & {9 Ud Agrer@r WiaTs

%) gemafee GUr e

Ques # :129

The creator of Zero-based budgeting was :
1) Peter A. Phyrr

2) Jimmy Carter

3) Guy Peters

4) Hoover Commission

T IR aAfEeT &7 e dieT AT 2
D drex T arRr

2) i 1T

3) ag drexg

#) gav 3

Ques # :130

"Finance is as universally involved in administration as oxygen is in the atmosphere." This statement was
made by :

1) Lloyd George
2) Willoughby

3) Dimock

4) Morstein Marx

e # faed gd7 3 & wfFafea ¢ G A agrse # i, 98 Fue e R ar?
D) sitge Siter

2) faelrely

3) feATR

1) AEEST AT

Ques # :131

A(Assertion): The budget should be prepared on the basis of gross estimates and not net estimated. R(Reason):
It makes the Parliamentary control over public expenditure meaningful. Answer the question by using the
codes given below :

1) Both A and R are true and R is the correct explanation of A.
2) Both A and R are true but R is not a correct explanation of A.
3) A is true but R is false.

4) A is false but R is true.

FYA(A): FIC FHT fAATOT Fehel TFerall F ITUR W AT ST TIRT, o7 A G F| FRONR): TR
AT feish o8 W FHT 07 3raret el §] TR 1 Secl{ AT T Fhall T STAT A UL :
DARROGTT@ e siRA P a carearr § |

D AR T T WA HFrafrsarear R 7G|

) ATEEReIRITATE |
4)
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ATATE e RIS T |

Ques # :132

Whitley Councils were estabilished in the Civil Service of the U.K. In :
1) 1917
2) 1918
3) 1919
4) 1922

foreet & fogeo aRugl Y TuTIaT foFe g & <Y =iy oy 2
1) 1917
2) 1918
3) 1919
4) 1922

Ques # :133

Who of the following is associated with the concept of New Depotism ?
1) Ramsay Muir

2) Harland Cleveland

3) EM. Marx

4) Lord Hewart

v 3 @ Pl 71§ P e A suRon F w2
D= Pty

2) RO Folldo's

3) U, TH. AT

4) 1S daE

Ques # :134

Which of the following is not correctly matched ?
1) Hatch Act - Political Rights

2) Lloyd La Follet Act - Right to Strike

3) Taft-Hartley Act - Right to Strike

4) Pendleton Act - Merit System

g FleTHT FATAT L1 & 2

D) & vge - qomifae 3R

2) JITgS o BToIE Tae - STl &1 TSR
3) ETFe BTE TFE - §ZTel ol TSR

) Ygoles Tere - Q9FaT Igfa

Ques # :135

Match List-1with List-1l and select the correct answer
by using codes give below:

List-1 List-11
A, Guardian Bureaucracy 1. Arisesfrom the class connection of those in the controlling positions.
B. Merit Bureaucracy 2. A scholastic officialdom trained inright conduct according to the classics.
C. Caste Bureaucracy 3. Recruitmentis based on personal favouror political reward.
D. Patronage Bureaucracy 4. Governed by objective standards specially by the principle of admission

of prescribed qualifications.
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1) A-4, B-3,C-2, D-1
2) A-3, B-4, C-1, D=2
3) A-2,B-4,C-1,D-3
4) A-2, B-3,C-4, D-1
ﬁ?ﬁ—l H“—c?r-u

A, ATEETES AleEmer 1. 96T W TS el & a9 Jeeit & d9ar |
B. AT =AlhRIEr 2. 3Tgeit & wfa 3T sr=Rer & gfafag fagas AfdsRr a9 |
c. ATfcael AeRIEr 3. 87 & HER AFEIT T AT TATA e WEHR BT & |
D. TRATOT ATFT2Tar 4. TEQSG AGS GanT =t faew dt w feffa

ARTATHT & HARIR W G &1 [HeEnid
<Al U 91T Fehll &l T S T F T ar e & aer 3w e
1) A-4, B-3, C-2, D-1
2) A-3,B-4,C-1, D-2
3) A-2, B-4,C-1, D-3
4) A-2, B-3,C-4, D-1

Ques # :136

Dicey's name is associated with :

1) Ecological study of public administration
2) Rule of law

3) Scientific theory of management

4) Principles of organization

ST T A fFaR 3T e 2

1) Ses gt &1 gataeoiy sregaeT
2) 378y 7 AT

3) gaitr &1 defre fRgia

4) HaraeT & g

Ques # :137

Droit Administratiff(administrative law) is a legal concept prevailing in :
1) UK.

2) India

3) France

4) U.S.A

germrdfae A (Droit Administratiff) T m‘?ﬁ RO § S Ayafaag:
D g

2) R

3) wig

4 3R

Ques # :138

Which of the following does not come within the ambit of admninitrative law ?
1) illegal acts done by officials not in their official capacity
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2) claims against adminsitrative action
3) remedies against administrative action
4) problems of public personnel

frafaf@a & ¥ slaan, varafas [ & v & adi smar?

D) geenrY 3iftren Rt earr fohd a1w 3rder R i Segier aepr) f8aa & ¢ atet sl ak vy
2) R & g g

3) gemrafaes s & [9eg 3R

4) T HHIRE! fr gHaEIT

Ques # :139

Who has defined Administrative adjudication as "the process by which administrarive agencies settle issues
arising in course of their work when legal rights are in question." ?

1) Dicey

2) Dimock

3) Robson

4) G.E. Caiden

fraet weamafae JATAURT (Administrative adjudication) &Y "' ¥ gfshaT foa# weaafas
HTRFIVT(Administrative agencies) VF ﬂi’f Co) '\fI:Tvlgl'lT-T & o 3a% Fraf & ke Hefel IHTAHRY
T TR AR g1 " & T H TRea fFarg 2

D srad

2) RAfE

3 qeEe

) e e
Ques # :140

Taft-Hartley Act of 1947 in the USA is related to :
1) Right of Association

2) Political Activities

3) Right to Strike

4) Machinery for negotiations

TYFA T AR F Swre-grear rfafaas 1947 #1 graey Fad 3 2
D) dg ge1ret &7 3R

2) et faes aifafafr

3) gzare &1 IRER

4) gasitar ardt &

Ques # :141

The present Fifth Republic Constitution of France was promulgated in :

1) 1956
2) 1954
3) 1958
4) 1952

W T TcciTel TaaT ORI HiAET e ore] o arar 2
1) 1956
2) 1954
3) 1958
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4) 1952

Ques # :142

The most dominant role is played by the Upper House in the administrative system of :
1) UK

2) France

3) USA

4) Russia

forer der At werra e wommelt & 39dt weer r sfAwT wad STeT waTe gt 8 2
Dgs.

2) e

3) HgeFd T 3R

3 &g

Ques # :143

Match List-1 with List-11 and select the correct answer
by using the codes given below the lists:

List-1 List-11
A, Written Constitution 1. Britain
B. Unitary Constitution 2. UsA
C. Unwritten Constitution 3. India
D. Federal Constitution 4. France

1)  A-2,B-1,C-4,D-3
2)  A-4,B-1.C-3,D-2
3)  A-3,B4,C-1,D-2
4)  A-3,B-1,C-4,D-2

ek T e 0T S 3 Ay & g

#F U 1T Hodh T T G I Siern
THr el

A Tofga gidera 1. fge=r

B. UhIcHch Hiaelel 2. §gad Ued AN

c. dfeif@d |igum=r 3. 8T

D. HEirr Hiaerm= 4. I

1) A-2,B-1,C-4,D-3

2)  A-4,B-1.C-3,D-2

3)  A-3,B-4,C-1,D-2
4)  A-3,B-1,C-4,D-2

Ques # :144

Which of the following is not a feature of the British administrative system ?
1) difference between the nominal and real executive

2) combination of expert and amateur

3) merit as basis of recruitment to civil service

4) spoils system

fArfaf@a & ¥ wla-d Rdvar feea f wenafas cqarar A a1 g 2
D) sra#T qur areafaes srRarfereRr 7 a3
2) gt 3R 3T ar 3aRuera (amteur) T TAHOT
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3) Qegar F IMUR W A Jar & 7df
4) o cHaEar

Ques # :145

Name such legislation which refers to the law-making power conferred by parliament on the executive ?
1) Ordinance

2) State law

3) Central law

4) Delegated legislation

U Fremaer 7 A1 TATC FHwa Free-AATT Ay AFFT FHG GaRT F Tf vt HY wSTeT Ay a8y 2
D) sreamear

Ques # :146

Which of the following is an informal means of coordination ?
1) Planning

2) Inculcating institutional spirit

3) Leadership

4) Conferences

et & O Fi9- 91 ¥H=ag F71 I ERE qeT & 2
D) e

2) HEATIT STTT T ATETS 3 So7 &l

3) eged

1) gFERo

Ques # :147

A(Assertion): The staff and auxilliary agencies, though assist the line agencies, differ from each other.
R(Reason): The auxialliary agencies have no operating responsibility. Answer the question by using the codes
given below :

1) Both A and R are true and R is the correct explanation of A.
2) Both A and R are true but R is not a correct explanation of A.
3) A is true but R is false.

4) A is false but R is true.

FUA(A): TEIT TIH T TETAH To TQAT o151 T 101 T TGTIAAT el §, Tere] & 3relar gYelt ]
FROT(R): WETIH T TaAT Y A5 TRETdacq1® foarAery 18t gl 7o 1 3ca = Rw v gahar
Wmmm:

Dt ARREEETA FTEEr e |

2) QA A TE R HEY & W] A U LI SAEAT AL € |

AT EWRRIAATE |

DATITERR AN |

Ques # :148
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Match List-1 with List-1l and select the correct answer
by usingthe codes given below:

List-1 List-11

A.Hierarchy 1. Flow of Authority
B.Span of control 2. One single boss
C.Delegation 3. Through proper channel
D. Unity of command 4. Supervision

1)  A-4,B-2,C-1,D-3
2)  A-3,B4,C-1,D-=2
3)  A-4,B-3,C-2,D-1
4)  A-2,B-1,C-3,D-4

el 7 v el B IR A & e

ew a0 Hehdl &1 99T &3k 3T SifaTd-

Sl Seisl

A, 9EEY 1. QIfEIpR A1 |l &I 9416
p. foraoT #71 8 2. UhAA A9

C. Ucamilet=t 3. 370 AETH @

D. 39T 6T Thar 4. TAaToT
1)  A-4,B-2,C-1,D-3
2) A-3, B-4, C-1, D-2
3)  A-4,B-3,C-2,D-1
4) A-2, B-1, C-3, D-4

Ques # :149

A (Assertion): Research results lead to propound new laws, theories and principles. R (Reason): Laws,
principles and theories are the result of scientific research.

1) Both A and R are true.
2) Both A and R are true but A is not correct explanation
3) A is false and R is true
4) A is true and R is false

FUT (A): A RO T FefaAt, Rrereat v 7l F yeda FId § | FROT (R): FELA, Rgia va
e dafae ater F oo § |

DaefATa R TS|

z)a’l?-ﬁAU‘q"RH%’T%WrgA Ueh TE! SATEAT o1g1 ¢ |

DATATETR AN E |

HATEETRIATY|

Ques # :150

A (Assertion): A sample is the representative of a whole. R (Reason): The sample is subjected to observation
and analysis.

1) A is false but R is true
2) A is true but R is false
3) Both A and R are true
4) Both A and R are false.

FYA (A): Th Ifagel (sample) Th THATE FHT IFAET §| FIOT (R): 9fager vdaaior v R{eavor &
FNTE |

DATToa g Req R EETE|
2)
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ATEE R R T E |
DaEtATREEE|
DAt ATRITATE |
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